5 12 2 A 39 {36 e

BB E
B LR B BB

HETEmi 5 AT P L TR HAF R G
AR BER AL X RN RO CE i L AN S R
FHSFERFEIF]Z > GEAFETREY & o A2 UAINEBRE F
BRNEEF T IR LR 2L o

WAL P2 FESE HAREDERER 12 EFESE G B
SRR B AE Rk Bl 2 pHEL5.6~7.20 i ¥
Ble MARFLHERDREF F25FI b5 wple > pHE M55
T f 87.95% G R AT T AR ARIERT > R AR
SEE AR HAEEE T AL #EHERY LT FHH

BAoedl % X2 B3 AT AR SR 3L fthpl » KiEg 2
E5oRATHFAREERG  RAAA ARG T gAIHEL 8
R S ANEE S Lk Rl 3

Fel B2 2R ITL % ikig

B ManT L3 U A v F ﬁ;{ T s ?;fraq'f}:sl%@,-? » TLE D F s
* 54 7 4 1,500~2,000 7 > o E Akl E 2 86,000~12,000 T 0 A
b Fla 2 “‘m§$’%@$%@9ﬁ%’ﬁ?%$%@wﬂu
ERES: B IR F S|

AR EETPTE WA-:

Al 2 EZ e R A T TR T A 4T o %Ji}%ﬁa%*"(ﬁ”)&% » L pa A

3~4" B~ L M 4~5 FRESHEITIRE > 5 B % FL1005 o % Fl 2 %
BAR BT R B ST B0~200 2 iR L5 s Bk 2 K 0 £
Bn20~402 2 iFen R 3 R o R EREE - S FIHEE10B g oo BA s K
F AN AR LIS > 2 960020 5 0 A B ENFTEM R SRS S
RGN = LU < L A L

wE/I {%j&li °
5 4

AT 4 kw1 T L Resklag  § 2 2T
i

-219 -



CELRLA- AL B

*v,/;;twﬁx%?;;:ijggﬁi%g]zﬁﬁ,;rfu//t;sgj; SRS SRR £ 31
o RFRAZELAJHF O IRFFWFIE > S AFERFIEIT L
AXEI300 s bES BEVEIF AT RN ERLEF > T 4
R E IR 41 AR L FE

AT AL R B A HTT R 2251 v R B % rﬁiq-:ﬂlf]zimp,__wvﬁgﬂq’ﬁ:%
R BEAR1Z 2977 > PARGEWW R(HB )W EGHE
B F 23662 T/ T ~BEEF2430 T/20F 2§ (492830 T/ 0 h g F W
FNERARE LSRR e g § £3290 7/ E ~ gEFEF2050 T/ 0 2
§ 14492450 T/ > J{REF F o BHIFR § 1490557 § For R 37
TINE ~38 T/ EE3B T/ R FHEFALN > THEREFT LIS
$€389.3 5 0 % F 2 % LAY L7952 80.70 8 » 4R % 12.6 °Brix;
T 5P L% E£365.705 0 B % %5 457665878200 0 A 5113
Brix > M FEEEFEFTARE AL AT E S THEEE DTS
AR A4 751 $PR T P 2 48,187 7 F H E T 2 ARETR & 3,436 -

5 T

‘“—“‘\

B
ggﬂ%{;w?ir}.:‘ig’-“’"/n\’}‘rﬁ?%zé”i?ﬁ’igﬂ%ﬂyig@;%'ﬁ.’iﬁ

BRDEFERPH S PANEHRE SN U MA AN A IR ST

EFE AR T LI Ew S aER 4 A o

2ITHFEEHRESTELEF SR

0 3 ¥ & HEEfT 34 K& %3 % BA
- (2 7/2F) (>3%) (2m) (2R) (°Brix)

T 4 329 205 245 389.3 79.5 89.7 12.6

¥R W 366 243 283 365.7 76.6 87.8 11.3

227 BT HB R L AR

7 X A(R/2F) & Al () E)
- 220 -




BHERHT L

%, 4L % ,I.%’_ z|?
e =F
T ,?“ Jid

-221 -



